MIS 3200 Networking Fundamentals
Internetworking Exercise 1
Student Name: ___________________________________________

Consider the local area network shown in Figure 1 below. 
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1) Assume that a transparent bridge is being used. Suppose that the only traffic generated on the network since it has been physically set up is as follow:
- Workstation 1 has sent a message to workstation 3

- Workstation 2 has sent a message to Server 1

- Server 1 has sent a message to workstation 3

What would be the content of the bridging tables?


2) Now, suppose that Workstation 1 sends another message. This time the message is sent to Workstation 2. What would happen? (Circle all correct answers)
a) The hub will send a copy of the message to the bridge
b) The bridge will forward the message to the switch

c) The switch will discard the received message

d) The bridge will check its Port A bridging table and will discard the received message.

3) The bridge between LAN A and LAN B just died.  You have a router lying on your desk that is not currently being used.  Will the router work in place of the broken bridge?  Explain.
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